Synergia2 - Bug # 46: test_bunch fails on 32 bit machines

Status: New Priority: Normal

Author: Panagiotis Spentzouris Category:

Created: 03/08/2011 Assigned to:

Updated: 03/08/2011 Due date:

Subject: test_bunch fails on 32 bit machines

Description: /home/spentz/synergia2-refactor/build/synergia2/src/synergia/bunch/tests/test_bunch.cc(279): error in
"convert_to_state": difference{1.31281e-14%} between gamma * beta *
accel_std[Bunch::cdt]{216.49552535791585} and bunch_std[Bunch::z]{216.49552535791588} exceeds
1.0000000000000001e-15%

History
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